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1. &��� � ����'� �%�����/ ��%&�����/ 
&5?O<< >E6>5=<O 4<EF<??<=O �=D>D<4F<>4 O6?ONFEO: 

3 >55E?5G5=<5 44?L=5=L57> D476<F<O <=D>D<4F<>==OE >><?5F5=F<= 6O?GE>=<>4, 
7>F>6>7> > D45>F5 6 GE?>6<OE D476<64NM57>EO <=D>D<4F<>==>7> >5M5EF64 < 6>7D4EF4NM5= 
>>=>GD5=F<< =4 DO=>5 FDG44. 

�444G4<< 4<EF<??<=O O6?ONFEO: 

3 44FL ?>=OF<5 > E<EF5<=>< ?>4E>45 > ?>?GG5=<N, ED4=5=<N, ?D5>5D47>64=<N, ?5D544G5 
< <E?>?L7>64=<N <=D>D<4F<< ED54EF64<< 6OG<E?<F5?L=>= F5E=<><; 

3 ED>D<<D>64FL ?D54EF46?5=<5 > E>6D5<5==OE F5E=<G5E><E < ?D>7D4<<=OE ED54EF64E 
>5D45>F>< <=D>D<4F<<; 

3 ?>47>F>6<FL > E4<>EF>OF5?L=><G D5L5=<N 7444G ED54EF64<< -�� 6 ?D>D5EE<>=4?L=>= 
45OF5?L=>EF<. 

 

2. ��%&� ��%&�����/ � %&$'�&'$� ���� 
�<EF<??<=4 «�=D>D<4F<>4» >F=>E<FEO > >5O74F5?L=>= G4EF< (G7?G5?5==O= GD>65=L) 
>5M5>5D47>64F5?L=OE 4<EF<??<= (F5E=>?>7<G5E><= ?D>D<?L) (���.02) < =4E>4<FEO 6 ?>7<G5E>>= 
< EFDG>FGD=>-<5F>4<G5E>>= E6O7< E 4DG7<<< G4EFO<< ����. 
�D54<5F=4O >5?4EFL 4<EF<??<=O 3 «�4F5<4F<>4 < <=D>D<4F<>4». 
� E>>F65FEF6<< E GG55=O< ??4=>< 4<EF<??<=4 «�=D>D<4F<>4» >E64<645FEO =4 G7?G5?5==>< 
GD>6=5, 6 1 < 2 E5<5EFD5. 
�56?D54<5F=O5 E6O7<: <4F5<4F<>4 (���.01). 
 

3. �����$'��/� $��'�,&�&/ �%�����/ ''����� ��%&�����/ 
 

�E6>5=<5 547>6>7> >GDE4 E>45D64=<O GG55=>= 4<EF<??<=O «�=D>D<4F<>4» >55E?5G<645F 
4>EF<65=<5 E?54GNM<E D57G?LF4F>6: 

1) ?<G=>EF=OE: 
ý >E>7=4=<5 >5GG4NM<<<EO D>EE<=E>>= 7D4644=E>>= <45=F<G=>EF<; 
ý 7>F>6=>EFL > E4<>D476<F<N, E4<>EF>OF5?L=>EF< < E4<>>?D545?5=<N; 
ý =4?<G<5 <>F<64F<< > >5GG5=<N < ?<G=>EF=><G D476<F<N; 
ý F5?5=4?D46?5==>5 D476<F<5 6=GFD5==5= ?>7<F<< ?<G=>EF< =4 >E=>65 4GE>6=>-

=D46EF65==OE F5==>EF5= =4D>4>6 $>EE<=E>>= $545D4F<<, <EF>D<G5E><E < 
=4F<>=4?L=>->G?LFGD=OE FD44<F<=, D>D<<D>64=<5 E<EF5<O 7=4G<<OE F5==>EF=>-
E<OE?>6OE GEF4=>6>>, 4=F<>>DDG?F<>==>7> <<D>6>77D5=<O, ?D46>E>7=4=<O, 
M>>?>7<G5E>>= >G?LFGDO, E?>E>5=>EF< EF46<FL F5?< < EFD><FL 6<7=5==O5 ??4=O; 

2) <5F4?D54<5F=OE: 
ý >E6>5==O5 >5GG4NM<<<EO <56?D54<5F=O5 ?>=OF<O < G=<65DE4?L=O5 GG55=O5 

45=EF6<O (D57G?OF<6=O5, ?>7=464F5?L=O5, >><<G=<>4F<6=O5); 
ý E?>E>5=>EFL <E <E?>?L7>64=<O 6 ?>7=464F5?L=>= < E>F<4?L=>= ?D4>F<>5, 7>F>6=>EFL > 

E4<>EF>OF5?L=><G ??4=<D>64=<N < >EGM5EF6?5=<N GG55=>= 45OF5?L=>EF<, 
>D74=<74F<< GG55=>7> E>FDG4=<G5EF64 E ?5447>7<G5E><<< D45>F=<>4<< < 
E65DEF=<>4<<, > GG4EF<N 6 ?>EFD>5=<< <=4<6<4G4?L=>= >5D47>64F5?L=>= FD45>F>D<<; 

ý >6?445=<5 =46O>4<< GG55=>-<EE?54>64F5?LE>>=, ?D>5>F=>= < E>F<4?L=>= 
45OF5?L=>EF<; 

3) ?D54<5F=OE: 
ý 6?445=<5 ?D54EF46?5=<O<< > D>?< <=D>D<4F<< < E6O74==OE E =5= ?D>F5EE>6 6 

?D<D>45, F5E=<>5 < >5M5EF65; ?>=OF<O<< "<=D>D<4F<O", "<=D>D<4F<>==O= ?D>F5EE", 
"E<EF5<4", ">><?>=5=FO E<EF5<O", "E<EF5<=O= MDD5>F", "<=D>D<4F<>==4O E<EF5<4", 
"E<EF5<4 G?D46?5=<O"; 6?445=<5 <5F>44<< ?><E>4 <=D>D<4F<< 6 E5F< �=F5D=5F; 
G<5=<5 >D<F<G5E>< >F5=<64FL <=D>D<4F<N, ?>?GG5==GN <7 E5F< �=F5D=5F; G<5=<5 
E4D4>F5D<7>64FL 5>?LL<5 44==O5, ?D<6>4<FL ?D<<5DO <EF>G=<>>6 <E ?>?GG5=<O < 
=4?D46?5=<O <E?>?L7>64=<O; 
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ý ?>=<<4=<5 >E=>6=OE ?D<=F<?>6 GEFD>=EF64 < DG=>F<>=<D>64=<O E>6D5<5==OE 
EF4F<>=4D=OE < <>5<?L=OE >><?LNF5D>6; F5=45=F<= D476<F<O >><?LNF5D=OE 
F5E=>?>7<=; 6?445=<5 =46O>4<< D45>FO E >?5D4F<>==O<< E<EF5<4<< < >E=>6=O<< 
6<44<< ?D>7D4<<=>7> >55E?5G5=<O 4?O D5L5=<O GG55=OE 7444G ?> 6O5D4==>= 
E?5F<4?<74F<<; 

ý =4?<G<5 ?D54EF46?5=<= > >><?LNF5D=OE E5FOE < <E D>?< 6 E>6D5<5==>< <<D5; >5 
>5M<E ?D<=F<?4E D47D45>F>< < DG=>F<>=<D>64=<O <=F5D=5F-?D<?>65=<=; 

ý ?>=<<4=<5 G7D>7 <=D>D<4F<>==>= 557>?4E=>EF<, <E?>?L7>64=<5 <5F>4>6 < ED54EF6 
?D>F<6>45=EF6<O MF<< G7D>74<, E>5?N45=<5 <5D 557>?4E=>EF<, ?D54>F6D4M4NM<E 
=574>>==>5 D4E?D>EFD4=5=<5 ?5DE>=4?L=OE 44==OE; E>5?N45=<5 FD55>64=<= F5E=<>< 
557>?4E=>EF< < 7<7<5=O ?D< D45>F5 E >><?LNF5D4<< < 4DG7<<< >><?>=5=F4<< 
F<DD>6>7> >>DG65=<O; ?>=<<4=<5 ?D46>6OE >E=>6 <E?>?L7>64=<O >><?LNF5D=OE 
?D>7D4<<, 547 44==OE < D45>FO 6 E5F< �=F5D=5F; 

ý ?>=<<4=<5 >E=>6=OE ?D<=F<?>6 4<E>D5F<74F<< D47?<G=OE 6<4>6 <=D>D<4F<<; 
G<5=<5 >?D545?OFL <=D>D<4F<>==O= >5N5< F5>EF>6OE, 7D4D<G5E><E < 76G>>6OE 
44==OE ?D< 7444==OE ?4D4<5FD4E 4<E>D5F<74F<<; 

ý G<5=<5 EFD><FL =5D46=><5D=O5 >>4O, 4>?GE>4NM<5 >4=>7=4G=>5 45>>4<D>64=<5 
E>>5M5=<= (?D5D<>E=O5 >>4O); <E?>?L7>64FL ?D>EF5=L<5 >>4O, >>F>DO5 ?>76>?ONF 
>5=4DG6<64FL < <E?D46?OFL >L<5>< ?D< ?5D544G5 44==OE; 

ý 6?445=<5 F5>D5F<G5E><< 4??4D4F><, ?>76>?ONM<< >EGM5EF6?OFL ?D54EF46?5=<5 
7444==>7> =4FGD4?L=>7> G<E?4 6 D47?<G=OE E<EF5<4E EG<E?5=<O; 6O?>?=OFL 
?D5>5D47>64=<O ?>7<G5E><E 6OD465=<=, <E?>?L7GO 74>>=O 4?755DO ?>7<><; 
>?D545?OFL >D4FG4=L<= ?GFL 6> 6765L5==>< 7D4D5 < >>?<G5EF6> ?GF5= <564G 
65DL<=4<< >D<5=F<D>64==>7> 4F<>?<G5E>>7> 7D4D4; 

ý G<5=<5 G<F4FL < ?>=<<4FL ?D>7D4<<O, D54?<7GNM<5 =5E?>6=O5 4?7>D<F<O >5D45>F>< 
G<E?>6OE < F5>EF>6OE 44==OE (6 F>< G<E?5 <4EE<6>6 < E<<6>?L=OE EFD>>) =4 
6O5D4==>< 4?O <7GG5=<O G=<65DE4?L=>< O7O>5 ?D>7D4<<<D>64=<O 6OE>>>7> GD>6=O 
(�4E>4?L, Python, Java, C++, C#); 4=4?<7<D>64FL 4?7>D<F<O E <E?>?L7>64=<5< F45?<F 
FD4EE<D>6><; >?D545?OFL 557 <E?>?L7>64=<O >><?LNF5D4 D57G?LF4FO 6O?>?=5=<O 
=5E?>6=OE ?D>7D4<<, 6>?NG4NM<E F<>?O, 65F6?5=<O < ?>4?D>7D4<<O, ?D< 7444==OE 
<EE>4=OE 44==OE; <>4<D<F<D>64FL 7>F>6O5 ?D>7D4<<O 4?O D5L5=<O =>6OE 7444G, 
<E?>?L7>64FL <E 6 E6><E ?D>7D4<<4E 6 >4G5EF65 ?>4?D>7D4<< (?D>F54GD, DG=>F<=); 

ý G<5=<5 D54?<7>64FL MF4?O D5L5=<O 7444G =4 >><?LNF5D5; G<5=<5 D54?<7>6O64FL =4 
6O5D4==>< 4?O <7GG5=<O O7O>5 ?D>7D4<<<D>64=<O 6OE>>>7> GD>6=O (�4E>4?L, Python, 
Java, C++, C#) F<?>6O5 4?7>D<F<O >5D45>F>< G<E5?, G<E?>6OE ?>E?54>64F5?L=>EF5= < 
<4EE<6>6: ?D54EF46?5=<5 G<E?4 6 6<45 =45>D4 ?D>EFOE E><=>6<F5?5=; =4E>645=<5 
<4>E<<4?L=>= (<<=<<4?L=>=) F<DDO =4FGD4?L=>7> G<E?4, 74?<E4==>7> 6 E<EF5<5 
EG<E?5=<O E >E=>64=<5<, =5 ?D56OL4NM<< 10; 6OG<E?5=<5 >5>5M5==OE 
E4D4>F5D<EF<> M?5<5=F>6 <4EE<64 <?< G<E?>6>= ?>E?54>64F5?L=>EF< (EG<<O, 
?D><76545=<O ED54=57> 4D<D<5F<G5E>>7>, <<=<<4?L=>7> < <4>E<<4?L=>7> M?5<5=F>6, 
>>?<G5EF64 M?5<5=F>6, G4>6?5F6>DONM<E 7444==><G GE?>6<N); E>DF<D>6>G M?5<5=F>6 
<4EE<64; 

ý G<5=<5 E>74464FL EFDG>FGD<D>64==O5 F5>EF>6O5 4>>G<5=FO < 45<>=EFD4F<>==O5 
<4F5D<4?O E <E?>?L7>64=<5< 6>7<>6=>EF5= E>6D5<5==OE ?D>7D4<<=OE ED54EF6 < 
>5?4G=OE E5D6<E>6; G<5=<5 <E?>?L7>64FL F45?<G=O5 (D5?OF<>==O5) 547O 44==OE, 6 
G4EF=>EF<, E>EF46?OFL 74?D>EO 6 5474E 44==OE (6 F>< G<E?5 6OG<E?O5<O5 74?D>EO), 
6O?>?=OFL E>DF<D>6>G < ?><E> 74?<E5= 6 5475 44==OE; =4?>?=OFL D47D45>F4==GN 547G 
44==OE; G<5=<5 <E?>?L7>64FL M?5>FD>==O5 F45?<FO 4?O 4=4?<74, ?D54EF46?5=<O < 
>5D45>F>< 44==OE (6>?NG4O 6OG<E?5=<5 EG<<O, ED54=57> 4D<D<5F<G5E>>7>, 
=4<5>?LL57> < =4<<5=LL57> 7=4G5=<=, D5L5=<5 GD46=5=<=); 

ý G<5=<5 <E?>?L7>64FL >><?LNF5D=>-<4F5<4F<G5E><5 <>45?< 4?O 4=4?<74 >5N5>F>6 < 
?D>F5EE>6: D>D<G?<D>64FL F5?L <>45?<D>64=<O, 6O?>?=OFL 4=4?<7 D57G?LF4F>6, 
?>?GG5==OE 6 E>45 <>45?<D>64=<O; >F5=<64FL 445>64F=>EFL <>45?< <>45?<DG5<><G 
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>5N5>FG <?< ?D>F5EEG; ?D54EF46?OFL D57G?LF4FO <>45?<D>64=<O 6 =47?O4=>< 6<45; 
ý G<5=<5 >D74=<7>6O64FL ?<G=>5 <=D>D<4F<>==>5 ?D>EFD4=EF6> E <E?>?L7>64=<5< 

D47?<G=OE ED54EF6 F<DD>6OE F5E=>?>7<=; ?>=<<4=<5 6>7<>6=>EF5= F<DD>6OE 
E5D6<E>6 7>EG44DEF65==OE GE?G7, F<DD>6OE >5D47>64F5?L=OE E5D6<E>6; ?>=<<4=<5 
6>7<>6=>EF5= < >7D4=<G5=<= F5E=>?>7<= <E>GEEF65==>7> <=F5??5>F4 6 D47?<G=OE 
>5?4EFOE; =4?<G<5 ?D54EF46?5=<= >5 <E?>?L7>64=<< <=D>D<4F<>==OE F5E=>?>7<= 6 
D47?<G=OE ?D>D5EE<>=4?L=OE ED5D4E. 

 

4. ��,�� ��%&�����/ � ���/ ''����� $���&/ 
�5M<= >5N5< 4<EF<??<=O 170 4>445<<G5E><E G4E4. 

>G=4O D>D<O >5GG5=<O 
�<4 GG55=>= D45>FO �E57>  

G4E>6 
%5<5EFDO 
1 2 

�G4<F>D=O5 74=OF<O (6E57>) 170 64 88 
6 F>< G<E?5:    
�5>F<<, GD>>< (�) 78 32 44 
�D4>F<G5E><5 74=OF<O (��) 94 32 44 
%5<<=4DO (%)    
�45>D4F>D=O5 D45>FO (�$)    
%4<>EF>OF5?L=4O D45>F4 (6E57>) (%$) 4 - 4 
6 F>< G<E?5:    
�GDE>6>= ?D>5>F (D45>F4)    
$4EG5F=>-7D4D<G5E><5 D45>FO    
�>=FD>?L=4O D45>F4    
$5D5D4F    
%4<>?>47>F>6>4 (E4<>EF>OF5?L=>5 <7GG5=<5 D4745?>6, ?D>D45>F>4 < 
?>47>F>6>4 < ?>6F>D5=<5 ?5>F<>==>7> <4F5D<4?4 < <4F5D<4?4 
GG55=<>>6 < GG55=OE ?>E>5<=, ?>47>F>6>4 > ?D4>F<G5E><< 
74=OF<O<) 

4 - 4 

�>=EG?LF4F<O   - 2 
�D><56GF>G=4O 4FF5EF4F<O   12 
�<4 ?D><56GF>G=>= 4FF5EF4F<<   >>=F

D>?L
=4O 

D45>F
4 

M>74<
5= 

�5M<= >5N5<, G4E 170 64 106 
 

5. %���$����� � %&$'�&'$� ��%&�����/ 
 

 5.1. %>45D64=<5 4<EF<??<=O 
7 

D4745?4 
(F5<O) 

�4<<5=>64=<5 
D4745?4 (F5<O) 

%>45D64=<5 D4745?4 (F5<O) 

1E5<5EFD 
1 �6545=<5. 

�=D>D<4F<O < 
<=D>D<4F<>==O5 
?D>F5EEO. 

$>?L <=D>D<4F<< < E6O74==OE E =5= ?D>F5EE>6 6 
>>DG64NM5< <<D5. $47?<G<O 6 ?D54EF46?5=<< 44==OE, 
?D54=47=4G5==OE 4?O ED4=5=<O < >5D45>F>< 6 
46F><4F<7<D>64==OE >><?LNF5D=OE E<EF5<4E, < 44==OE, 
?D54=47=4G5==OE 4?O 6>E?D<OF<O G5?>65>><.  

%<EF5<O. �><?>=5=FO E<EF5<O < <E 674<<>45=EF6<5. 
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$47><>=GFO5 < 74<>=GFO5 E<EF5<O G?D46?5=<O. 
'=<65DE4?L=>EFL 4<E>D5F=>7> ?D54EF46?5=<O <=D>D<4F<<. 
�4F5<4F<G5E>>5 < >><?LNF5D=>5 <>45?<D>64=<5 E<EF5< 
G?D46?5=<O. 

2 
 

�4F5<4F<G5E><5 
>E=>6O 
<=D>D<4F<>< 

$46=><5D=O5 < =5D46=><5D=O5 >>4O. 'E?>6<5 $4=>. 
�?7>D<F<O 45>>4<D>64=<O ?D< <E?>?L7>64=<< ?D5D<>E=OE 
>>4>6. %64F<5 44==OE. 'G5F G4EF>F=>EF< E<<6>?>6 ?D< 6O5>D5 
=5D46=><5D=>7> >>44. �?F<<4?L=>5 >>4<D>64=<5 %4DD<4=4. 
�E?>?L7>64=<5 ?D>7D4<<-4DE<64F>D>6. �D>?GE>=4O E?>E>5=>EFL 
< ?><5E>74M<M5==>EFL >4=4?4 E6O7<. �>4<D>64=<5 E>>5M5=<= 6 
E>6D5<5==OE ED54EF64E ?5D544G< 44==OE. �>4O E 6>7<>6=>EFLN 
>5=4DG65=<O < <E?D46?5=<O >L<5>>. %?>E>5O 74M<FO 
<=D>D<4F<<, ?5D544645<>= ?> >4=4?4< E6O7<. �D<?F>7D4D<O 
(4?7>D<F<O L<DD>64=<O). %F574=>7D4D<O. 

�7<5D5=<O < 4<E>D5F<74F<O. '4EF>F4 < D47DO4=>EFL 
<7<5D5=<=. '=<65DE4?L=>EFL 4<E>D5F=>7> ?D54EF46?5=<O 
<=D>D<4F<<. �<E>D5F=>5 ?D54EF46?5=<5 76G>>6OE 44==OE. 
�=>7>>4=4?L=4O 74?<EL. $47<5D D4=?4, ?>?GG5==>7> 6 D57G?LF4F5 
74?<E< 76G>4. �<E>D5F=>5 ?D54EF46?5=<5 EF4F<G5E>>= < 
4<=4<<G5E>>= 7D4D<G5E>>= <=D>D<4F<<. %64F<5 44==OE ?D< 
ED4=5=<< 7D4D<G5E>>= < 76G>>6>= <=D>D<4F<<. 

%D46=5=<5 G<E5?, 74?<E4==OE 6 46><G=>=, 6>EL<5D<G=>= < 
L5EF=44F4F5D<G=>= E<EF5<4E EG<E?5=<O. �5D56>4 E<5L4==>7> 
G<E?4 6 ?>7<F<>==GN E<EF5<G EG<E?5=<O E 7444==O< 
>E=>64=<5<. 

�D54EF46?5=<5 F5?OE < 65M5EF65==OE G<E5? 6 ?4<OF< 
>><?LNF5D4. �><?LNF5D=4O 4D<D<5F<>4. 

�?5D4F<< «<<??<>4F<O», «M>6<64?5=F=>EFL». �D<<5DO 
74>>=>6 4?755DO ?>7<><. ->6<64?5=F=O5 ?D5>5D47>64=<O 
?>7<G5E><E 6OD465=<=. �>EFD>5=<5 ?>7<G5E>>7> 6OD465=<O E 
44==>= F45?<F5= <EF<==>EF<. $5L5=<5 ?D>EF5=L<E ?>7<G5E><E 
GD46=5=<=. �>EFD>5=<5 EE5< <7 547>6OE ?>7<G5E><E M?5<5=F>6. 
�<E>D5F=O5 <7DO 46GE <7D>>>6 E ?>?=>= <=D>D<4F<5=. 
�O<7DOL=O5 EFD4F57<<. 

$5L5=<5 4?7>D<F<<G5E><E 7444G, E6O74==OE E 4=4?<7>< 
7D4D>6. �E?>?L7>64=<5 7D4D>6, 45D56L56, E?<E>>6 ?D< >?<E4=<< 
>5N5>F>6 < ?D>F5EE>6 >>DG64NM57> <<D4. �<=4D=>5 45D56>. 

3 �?7>D<F<O < 
M?5<5=FO 
?D>7D4<<<D>64=<O 

�>4?D>7D4<<O. $5>GDE<6=O5 4?7>D<F<O. &45?<G=O5 
65?<G<=O (<4EE<6O). �4?<EL 4?7>D<F<<G5E><E >>=EFDG>F<= 6 
6O5D4==>< O7O>5 ?D>7D4<<<D>64=<O. 

-F4?O D5L5=<O 7444G =4 >><?LNF5D5. �?5D4F>DO O7O>4 
?D>7D4<<<D>64=<O, >E=>6=O5 >>=EFDG>F<< O7O>4 
?D>7D4<<<D>64=<O. &<?O < EFDG>FGDO 44==OE. �>4<D>64=<5 
547>6OE 4?7>D<F<<G5E><E >>=EFDG>F<= =4 6O5D4==>< O7O>5 
?D>7D4<<<D>64=<O. �=F57D<D>64==4O ED544 D47D45>F>< 
?D>7D4<< =4 6O5D4==>< O7O>5 ?D>7D4<<<D>64=<O. �=F5DD5=E 
6O5D4==>= ED54O. %>EF46?5=<5 4?7>D<F<>6 < ?D>7D4<< 6 
6O5D4==>= ED545 ?D>7D4<<<D>64=<O. �D<5<O >F?44>< ?D>7D4<<. 
�D>65D>4 D45>F>E?>E>5=>EF< ?D>7D4<< E <E?>?L7>64=<5< 
FD4EE<D>6>G=OE F45?<F. $47D45>F>4 < ?D>7D4<<=4O D54?<74F<O 
4?7>D<F<>6 D5L5=<O F<?>6OE 7444G 547>6>7> GD>6=O <7 
D47?<G=OE ?D54<5F=OE >5?4EF5=.  

�?7>D<F<O D544>F<D>64=<O F5>EF>6 (74<5=4 
E<<6>?4/DD47<5=F4, G44?5=<5 < 6EF46>4 E<<6>?4/DD47<5=F4, 
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?><E> 6E>645=<O 7444==>7> >5D47F4).�>EF4=>6>4 7444G< 
E>DF<D>6><. 

�?D545?5=<5 6>7<>6=OE D57G?LF4F>6 D45>FO ?D>EF5=L<E 
4?7>D<F<>6 G?D46?5=<O <E?>?=<F5?O<< < 6OG<E?<F5?L=OE 
4?7>D<F<>6. �?D545?5=<5 <EE>4=OE 44==OE, ?D< >>F>DOE 
4?7>D<F< <>65F 44FL FD55G5<O= D57G?LF4F. = 

�D54EF46?5=<5 D57G?LF4F>6 <>45?<D>64=<O 6 6<45, G4>5=>< 
4?O 6>E?D<OF<O G5?>65>><. �D4D<G5E>>5 ?D54EF46?5=<5 44==OE 
(EE5<O, F45?<FO, 7D4D<><). �D4>F<G5E>4O D45>F4 E 
>><?LNF5D=>= <>45?LN ?> 6O5D4==>= F5<5. �=4?<7 
4>EF>65D=>EF< (?D464>?>4>5<O) D57G?LF4F>6 M>E?5D<<5=F>6. 
�E?>?L7>64=<5 ED54 <<<F4F<>==>7> <>45?<D>64=<O 
(6<DFG4?L=OE ?45>D4F>D<=) 4?O ?D>6545=<O >><?LNF5D=>7> 
M>E?5D<<5=F4 6 GG55=>= 45OF5?L=>EF<. 

2E5<5EFD 
4 �E?>?L7>64=<5 

?D>7D4<<=OE 
E<EF5< < E5D6<E>6 

�D>7D4<<=4O < 4??4D4F=4O >D74=<74F<O >><?LNF5D>6 < 
>><?LNF5D=OE E<EF5<. �DE<F5>FGD4 E>6D5<5==OE >><?LNF5D>6. 
�5DE>=4?L=O= >><?LNF5D. �=>7>?D>F5EE>D=O5 E<EF5<O. 
%G?5D>><?LNF5DO. �EFD>5==O5 >><?LNF5DO. �D<>?44=O5 
>><?LNF5D=O5 ?D>7D4<<O, <E?>?L7G5<O5 6 E>>F65FEF6<< E 
F<?>< D5L45<OE 7444G < ?> 6O5D4==>= E?5F<4?<74F<<. 
�4D4??5?L=>5 ?D>7D4<<<D>64=<5. �=EF4??OF<O < 45<=EF4??OF<O 
?D>7D4<<=OE ED54EF6, =5>5E>4<<OE 4?O D5L5=<O GG55=OE 7444G 
< 7444G ?> 6O5D4==>= E?5F<4?<74F<<. �4>>=>44F5?LEF6> 
$>EE<=E>>= $545D4F<< 6 >5?4EF< ?D>7D4<<=>7> >55E?5G5=<O. 
%?>E>5O < ED54EF64 >55E?5G5=<O =4456=>7> DG=>F<>=<D>64=<O 
ED54EF6 ��&. �D<<5=5=<5 E?5F<4?<7<D>64==OE ?D>7D4<< 4?O 
>55E?5G5=<O EF45<?L=>= D45>FO ED54EF6 ��& 

%D54EF64 ?><E>4 < 46F>74<5=O. �EF>D<O <7<5=5=<=. 
�E?>?L7>64=<5 7>F>6OE L45?>=>6 < E>744=<5 E>5EF65==OE. 
$47D45>F>4 EFDG>FGDO 4>>G<5=F4, E>744=<5 7<?5DF5>EF>6>7> 
4>>G<5=F4. %F4=44DFO 5<5?<>7D4D<G5E><E >?<E4=<=. 

�5?>64O ?5D5?<E>4, =4GG=4O ?G5?<>4F<O. $5D5D4F < 
4==>F4F<O. �D>7D4<<O E<=F574 < D4E?>7=464=<O GEF=>= D5G<. 
�D46<?4 ?D>6545=<O <EE?54>64F5?LE>>7> ?D>5>F4 (?>EF4=>6>4 
7444G<, 6O5>D <5F>4>6 <EE?54>64=<O, ?>47>F>6>4 <EE>4=OE 
44==OE, ?D>6545=<5 <EE?54>64=<O, D>D<G?<D>6>4 6O6>4>6, 
?>47>F>6>4 >FG5F4); ??4=<D>64FL < 6O?>?=OFL =55>?LL<5 
<EE?54>64F5?LE><5 ?D>5>FO. 

%>744=<5 < ?D5>5D47>64=<5 4G4<>6<7G4?L=OE >5N5>F>6. �6>4 
<7>5D465=<= E <E?>?L7>64=<5< D47?<G=OE F<DD>6OE GEFD>=EF6 
(F<DD>6OE D>F>4??4D4F>6 < <<>D>E>>?>6, 6<45>>4<5D, E>4=5D>6 
< F.4.). $5?OF<>==O5 (F45?<G=O5) 547O 44==OE. &45?<F4 3 
?D54EF46?5=<5 E6545=<= >5 >4=>F<?=OE >5N5>F4E. �>?5, 74?<EL. 
�?NG56O5 ?>?O F45?<FO. %6O7< <564G F45?<F4<<. %E5<4 
44==OE. �D54EF46?5=<5 > E<EF5<4E 46F><4F<7<D>64==>7> 
?D>5>F<D>64=<O. %<EF5<O 46F><4F<7<D>64==>7> 
?D>5>F<D>64=<O. %>744=<5 G5DF565= F<?>6OE 45F4?5= < 
>5N5>F>6. 

�4L<==>5 >5GG5=<5 3 D5L5=<5 7444G D4E?>7=464=<O, 
>?4EE<D<>4F<< < ?D54E>474=<O. �E>GEEF65==O= <=F5??5>F. 
�=4?<7 44==OE E ?D<<5=5=<5< <5F>4>6 <4L<==>7> >5GG5=<O. 
->E?5DF=O5 < D5>><5=44F5?L=O5 E<EF5<O. 

5 �=D>D<4F<>==>- �D<=F<?O ?>EFD>5=<O >><?LNF5D=OE E5F5=. %5F56O5 
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>><<G=<>4F<>==O
5 F5E=>?>7<<. 
$45>F4 6 
<=D>D<4F<>==>< 
?D>EFD4=EF65 

?D>F>>>?O. �=F5D=5F. �4D5E4F<O 6 E5F< �=F5D=5F. %<EF5<4 
4><5==OE <<5=. �D4G75DO. �??4D4F=O5 >><?>=5=FO 
>><?LNF5D=OE E5F5=. �55-E4=F. %FD4=<F4. �74<<>45=EF6<5 655-
EFD4=<FO E E5D65D><. �<=4<<G5E><5 EFD4=<FO. $47D45>F>4 
<=F5D=5F-?D<?>65=<= (E4=FO).%5F56>5 ED4=5=<5 44==OE. 
�5?4G=O5 E5D6<EO. �E?>?L7>64FL >><?LNF5D=O5 E5F< 4?O 
>5<5=4 44==O<< ?D< D5L5=<< ?D<>?44=OE 7444G; >?D545?5=<5 
?D>?GE>=>= E?>E>5=>EF< < ?><5E>74M<M5==>EF< >4=4?4 E6O7<, 
<E>465=<5 <=D>D<4F<< ?D< ?5D544G5 ?> >4=4?4< E6O7<. 

$4EL<D5==O= ?><E> <=D>D<4F<< 6 E5F< �=F5D=5F. 
�E?>?L7>64=<5 O7O>>6 ?>EFD>5=<O 74?D>E>6. �DG7<5 6<4O 
45OF5?L=>EF< 6 E5F< �=F5D=5F. �5>?>>4F<>==O5 E5D6<EO 
D54?L=>7> 6D5<5=< (?>>4F<O <>5<?L=OE F5?5D>=>6, >?D545?5=<5 
747DG65==>EF< 46F><47<EFD4?5= < F.?.); <=F5D=5F-F>D7>6?O; 
5D>=<D>64=<5 5<?5F>6 < 7>EF<=<F < F.?.  

%>F<4?L=O5 E5F< 3 >D74=<74F<O >>??5>F<6=>7> 
674<<>45=EF6<O < >5<5=4 44==O<<. %5F56>= MF<>5F: ?D46<?4 
?>6545=<O 6 ><55D?D>EFD4=EF65. �D>5?5<4 ?>4?<==>EF< 
?>?GG5==>= <=D>D<4F<<. �=D>D<4F<>==4O >G?LFGD4. 
�>EG44DEF65==O5 M?5>FD>==O5 E5D6<EO < GE?G7<. �>5<?L=O5 
?D<?>65=<O. �F>DOFO5 >5D47>64F5?L=O5 D5EGDEO.  

%D54EF64 74M<FO <=D>D<4F<< 6 46F><4F<7<D>64==OE 
<=D>D<4F<>==OE E<EF5<4E (��%), >><?LNF5D=OE E5FOE < 
>><?LNF5D4E. �5M<5 ?D>5?5<O 74M<FO <=D>D<4F<< < 
<=D>D<4F<>==>= 557>?4E=>EF< ��%. -?5>FD>==4O ?>4?<EL, 
E5DF<D<F<D>64==O5 E4=FO < 4>>G<5=FO. 

&5E=>75==O5 < M>>=><<G5E><5 G7D>7O, E6O74==O5 E 
<E?>?L7>64=<5< ��&. �D46>6>5 >55E?5G5=<5 <=D>D<4F<>==>= 
557>?4E=>EF<.  

 

 5.2. %FDG>FGD4 4<EF<??<=O (F5<4F<G5E>>5 ??4=<D>64=<5) 

 �G=4O D>D<4 >5GG5=<O 
7 

D4745?4(
F5<O) 

�4<<5=>64=<5 D4745?4(F5<O) �>?<G5EF6> G4E>6 
�E57> � �� (%) 

1 �6545=<5. �=D>D<4F<O < <=D>D<4F<>==O5 
?D>F5EEO. 

20 10 10 

2 �4F5<4F<G5E><5 >E=>6O <=D>D<4F<><. 22 12 10 
3 �?7>D<F<O < M?5<5=FO ?D>7D4<<<D>64=<O 22 10 12 
4 �E?>?L7>64=<5 ?D>7D4<<=OE E<EF5< < E5D6<E>6 52 30 22 
5 �=D>D<4F<>==>->><<G=<>4F<>==O5 F5E=>?>7<<. 

$45>F4 6 <=D>D<4F<>==>< ?D>EFD4=EF65. 
36 14 22 

 %4<>EF>OF5?L=4O D45>F4 4 - - 
 �>=EG?LF4F<O 2 - - 
 �D><56GF>G=4O 4FF5EF4F<O 12 - - 
 �5M<= >5N5<, G4E 170 76 76 

 

5.3 �D4>F<G5E><5 74=OF<O < E5<<=4DO 

 �G=4O D>D<4 >5GG5=<O 
7 
?/? 

7 
D4745?4 

&5<4 �>?<G5EF6> 
G4E>6 
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(F5<O) 
1. 1 1 �6545=<5. �=D>D<4F<O  4 
2.  1 �=D>D<4F<>==O5 ?D>F5EEO 6 
3.  2 �4F5<4F<G5E><5 >E=>6O <=D>D<4F<>< 4 
4.  2 �D54EF46?5=<5 44==OE 6 

5.  3 �?7>D<F<O  4 
6.  3 -?5<5=FO ?D>7D4<<<D>64=<O 6 
7.  4 �E?>?L7>64=<5 ?D>7D4<<=OE E<EF5< < E5D6<E>6 8 
8.  4 �E?>?L7>64=<O 4<=4<<G5E><E (M?5>FD>==OE) F45?<F 8 
9.  4 $5?OF<>==O5 (F45?<G=O5) 547O 44==OE 6 
10.  5 �=D>D<4F<>==>->><<G=<>4F<>==O5 F5E=>?>7<<. 8 
11.  5 %>F<4?L=O5 E5F< 3 >D74=<74F<O >>??5>F<6=>7> 674<<>45=EF6<O 

< >5<5=4 44==O<< 
8 

12.  5 %D54EF64 74M<FO <=D>D<4F<< 6 46F><4F<7<D>64==OE 
<=D>D<4F<>==OE E<EF5<4E (��%), >><?LNF5D=OE E5FOE < 
>><?LNF5D4E 

6 

 

 5.4. �45>D4F>D=O5 D45>FO  
7 
?/? 

7 D4745?4 
(F5<O) 

�4<<5=>64=<5 ?45>D4F>D=OE D45>F �>?<G5EF6> 
G4E>6 

- - - - 
 

 5.5. %4<>EF>OF5?L=>5 <7GG5=<5 D4745?>6 (F5<) 4<EF<??<=O 

 �G=4O D>D<4 >5GG5=<O 
7 D4745?4 

(F5<O) 
&5<O, 6O=>E<<O5 =4 E4<>EF>OF5?L=>5 <7GG5=<5 �>?<G5EF6> 

G4E>6 
3 -?5<5=FO ?D>7D4<<<D>64=<O 2 
5 %>F<4?L=O5 E5F< 3 >D74=<74F<O >>??5>F<6=>7> 674<<>45=EF6<O < 

>5<5=4 44==O<< 
2 

 �5M<= >5N5<, G4E 4 
 

6. ''����-��&���'�%��� � ��$�$��&������ ���%��'����  
��%&�����/ 

 
 6.1. �E=>6=4O ?<F5D4FGD4 
1. �5==, �. �. �=D>D<4F<>4 11 >?4EE : GG55=<> / �. �. �5==, � .�. %5=>>>E>6. 3 9-5 <74.. 

EF5D.  3 �>E>64 : �D>E65M5=<5, 2022. 3 336 E. - ISBN 978-5-09-093095-6. 3 &5>EF : 
=5?>ED54EF65==O=.  

2. �5==, �. �. �=D>D<4F<>4. 10-= >?4EE. �47>6O= < G7?G5?U==O= GD>6=< : GG55=<> / �. �. 
�5==, �. �. �<6G4>, �. �. %5=>>>E>6. - 9-5 <74., EF5D. - �>E>64 : �744F5?LEF6> "�D>E65M5=<5", 
2022. - 272 E. - ISBN 978-5-09-101598-0. - &5>EF : M?5>FD>==O=. - URL: 
https://znanium.com/catalog/product/2089813  

3. �5==, �. �. �=D>D<4F<>4. 11 >?4EE. �47>6O= < G7?G5?5==O= GD>6=< : GG55=<> / �. �. 
�5==, �. �. %5=>>>E>6. - 9-5 <74., EF5D. - �>E>64 : �744F5?LEF6> "�D>E65M5=<5", 2022. - 336 E. - 
ISBN 978-5-09-101599-7. - &5>EF : M?5>FD>==O=. - URL: https://znanium.com/catalog/product/2089816  

   
 6.2. �>?>?=<F5?L=4O ?<F5D4FGD4 
1. &D>D<<>6, �. �.  �=D>D<4F<>4 : GG55=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> 

>5D47>64=<O / �. �. &D>D<<>6, �. �. �4D454=>64. 4 4-5 <74., ?5D5D45. < 4>?. 4 �>E>64 : 
�744F5?LEF6> .D4=F, 2024. 4 795 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-



 

17499-1. 4 &5>EF : M?5>FD
URL: https://urait.ru/bcode/545059

2. &D>D<<>6, �. �.
>5D47>64=<O / �. �. &D>D<<>6, 
�744F5?LEF6> .D4=F, 2024. 4
17499-1. 4 &5>EF : M?5>FD
URL: https://urait.ru/bcode/545059

3. �>6>6<?>6, �. �.
?D>D5EE<>=4?L=>7> >5D47>64=<
�744F5?LEF6> .D4=F, 2024. 4
06374-5. 4 &5>EF : M?5>FD
URL: https://urait.ru/bcode/540740

�5D<>4<G5E><5 <74
1. �D<>?44=4O <=D

http://www.iprbookshop.ru/11770.
2. IT Expert 

http://www.iprbookshop.ru/38869.
3. Windows IT 

http://www.iprbookshop.ru/76367.
4. �=D>D<4F<>==O5 

E<EF5<4E [-?5>FD>==O= D5EGDE]
«IPRbooks» 

 6.3. �D>7D4<<=>5 
ý Microsoft Windows
ý Microsoft Office Prof
ý �>=EG?LF4=F-�?NE
ý Google Chrome <?< /

  
 6.4. �47O 44==OE, <

D5EGDEO 
1. �474 44==OE IT E?5F<4

�=D>D<4F<>==>-E?D46>G=

2. %?D46>G=>-?D46>64O E<
�><E>>6O5 E<EF5<O 

ý �><E>>64O E<EF5<4 Yand
ý �><E>>64O E<EF5<4 Ram
ý �><E>>64O E<EF5<4 Goog

-?5>FD>==O5 >5D47>64F5

3. �>D?>D4F<O �4=>D>
ru/education/default.asp

4. �4GG=4O M?5>FD>==4O
5. �4F<>=4?L=O= >F>DOF
6. &<DD>6>= >5D47>64F5?
ý �5D47>64F5?L=4O ??4

 
7.��&�$���,��-&�
$54?<74F<O D45>G5= ?D>7

ý 4?O ?D>6545=<O ?5>F<=
F5E=<G5E><<< ED54EF64<< >5
<4F5D<4?O; 

M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<
545059.  

�.  �=D>D<4F<>4 : GG55=<> 4?O ED54=5
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